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Umfang
| u=2TUr u=rmd
Beispiel:
r=1,8cm
A=2-m-1,8
A=11,31cm
Abwicklung: 1 cm
d=1cm +1 cm
+1 cm
@v +0,14..cm
; 3,14..cm
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Flacheninhalt
A=mr? A=T['(%)2
Beispiel:
r=2cm
A=m-2%2=12,57 cm?
Zerlegung:
+8  cm?
+4,57 cm?
12,57 cm?

Flacheninhalt Kreisring

CA=Ter?-mer?

Azﬂ'(ra_ri)2

Beispiel:
r,=2cm
rr=1,3cm

Kreisring

A=m-22-m-1,32=7,26 cm?

Kreisbogen

Beispiel:
r=2,3cm
a=113°

Kreisbogen

Mittelbunkts—

winkel

b=2-m-2,3-313 ~4,54cm

Kreisausschnitt

Beispiel:
r=2,8cm
o =55°

Kreisaus-|

As =TT 2,82 ' % = 3,76 cm? schnitt




